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) y+2y=ex="Y, o J=eX V= 1VE+ V2,0 <V=300,000

2) ey + 3y =2t 22 VY, 3xy = V= V2 + VP, 0 <V<300,000
3y += 2 =3 Cosx = Vy/Vx + ; = 3Cos’x, ,V=+V? +V?,0<V<300,000
2 yry=xex = V[, =x€% V= VA F V%, 0<V=300,000

5) y+ydanx = xSinx @ Y/, yianx =x.Sinx , V= V2 + V2, 0 <V<
300,000
6) y'+ p2xy 1 :>Vy/Vx+2xy=%’V= V2 +V2%,0 <V < 300,000

14+x%  1+x? 1+x* 1+x
7) yey=12"Y/, +xty = 12V =V +V%,0 <V < 300,000
8) y' + 4y (tan2x) = tanx = V}//Vx + 4y (tan’x) = tan’x 2V =V +V?%,0 <
IV < 300,000
9) xy' (logn x) = xlogn (x—Y) ';>X1% (logn X)=x Iogn(x-y) DV =Vi%+V%,0 <
IV < 300,000
10)y' = (-Cos x)y+6 Cosx = Vy/Vx = (—Cos x)y + 6 Cos*x=>V =
V3, + V3,0 <V < 300,000
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11) y(zx2y3+3)dx+x(x2y3-1)dy=0 = y(zx2y3+3)% + x(x*y® — 1) % =0 2y(zx*y® + 3)Vx +
x(x2y = 1)Vy =0 2V = [V% + V2,0 <V < 300,000

12) (y2+yx?)dx+(-3xy)dy=0 (y>+yxd) = + (* = 3xy) = = 0 2 (y* + yx?)Vx + (x* -
3xy)Vy =02V =V%+V?%,0 <V < 300,000

13)Y(2-3xy)dx-xdy=0 = y(2-3xy)% — X %:0 2 y(2-3xy)Vx-xVy=05 V= \/m ,
0 <Vv<300,000

14) (4xy+3y4)dx+(2x2+5xy?)dy=0 = (4xy+3y4)% + (2x* + 5xy°) % =02 (4xy +
3yH)Vx+(2x2+5xy3)Vy=0=> V= /VZ, + V?v, 0 <V< 300,000

15)Y (x4y-1)dx+x(xy4-1)dy=0 q>y(x4y-1)% + x(xy%—1) % = 0 y(xdy-
DVx+x(xy#-1)Vy=0 = V= /V%, + V%, 0 <V< 300,000




16) (y2+2xy+y)dx-(2xy+x2-x)dy=0 = (y2+2xy+y)% — (2xy + x* = x) % =0=0%+

2xy + P)Vx — Qxy + x> —x)Vy =022V = /V4 + V% ,0 <V < 300,000

17) (2x2y+y2)dx+(2x3-xy)dy=0 = (2x2y+y2)%+(2x3-xy)%:0 = (2x2y+y2)Vx+(2x3-
xy)Vy=0 2> V=,/V?, + V%, 0 <V< 300,000

18)y(4x+3y?)dx+x(2x+4y?)dy= 0 :>y(4x+3y2)%+x(2x+4y2)%:0 =
Y(4x+3y2)Vx+x(2x+4y2)Vy = 0 = V= /V3, + V3, 0 <V< 300,000

19)d_y _ —y(tanx +1logy, y) = Zi/dt — —y(tanx + log,y) = V_y — —y(tan x+logy,y) BV =
dx tan x /at tan x Vx tan x

Vi, +V?%,0 <V < 300,000
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dx 3x + 4yx /e 3x + 4yx Vx  3x+4yx
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